

INVOICE

SED PHARMA INC
1500 Milliken Ave
Ste B
Ontario, CA 91761

ZUNYI.LIN@SEDPHARMA.COM
+1 (908) 220-0697
<https://www.sedpharma.com>



Bill to

WENDATONG TRADE CO.LIMITED
ROOM 602 , 6/F , KAI YUE COMMERCIAL
BUILDING , NO.2C , ARGRL STREET ,
MONGKOK KOWLOON , HONG KONG

Ship to

WENDATONG TRADE CO.LIMITED
ROOM 602 , 6/F , KAI YUE COMMERCIAL
BUILDING , NO.2C , ARGRL STREET ,
MONGKOK KOWLOON , HONG KONG

Invoice details

Invoice no.: 1578
Terms: Due on receipt
Invoice date: 12/03/2025
Due date: 01/31/2026

Sales Rep: Chloe Liu
Order Number: SED-USA-LSH-022

| # | Product or service | SKU | Description | Qty | Rate | Amount |
|----|---|------------------|---|------|--------|-------------|
| 1. | TIMBOT Bone Nutrient 120 capsules | WTTL-251203-0001 | LOT: B3E4701 EXP: 02/2029 TIMBOT Bone Nutrient 120 capsules Mg/cap Drynaria Fortunei Extract 10:1 15 Devil's Claw Extract 10:1 15 Calcium Carbonate 42% 200 Vitamin K2 MK-4 1% 2 Vitamin D3 100,000IU/g 5.5 Magnesium Oxide 10 Boron Glycinate 5 Copper Sulfate 10% 5 Zinc Oxide 3 VC Ascorbic acid 5 Package requirements: 250cc PET Dark Amber Bottle with White RS Cap, Clear Neck Seal, and Size 0 White HPMC Capsule. Not include: shipping fee and 3rd lab testing fee. | 8000 | \$1.90 | \$15,200.00 |
| 2. | TIMBOT Lutein & Blueberry 120 capsules | WTTL-251203-0003 | TIMBOT叶黄素胶囊120粒 金色盖子 LOT: B3E7701 EXP: 02/2029 TIMBOT Lutein & Blueberry 120 capsules capsules Mg/cap 叶黄素(万寿菊提取物) Lutein (from Marigold Extract) 10 玉米黄质 Zeaxanthin 2 | 3000 | \$2.60 | \$7,800.00 |

蓝莓提取物 Blueberry Extract 10
 OMEGA-3 DHA powder 20% 10
 维生素A Vitamin A Palmitate Powder 1
 维生素B6 Vitamin B6 (as pyridoxine hydrochloride) 99% 1
 维生素C VC Ascorbic acid 1
 锌 Zinc oxide 80% 0.4

Package requirements: 250cc PET Dark Amber Bottle with Gold RS Cap, Clear Neck Seal, and Size 0 White HPMC Capsule.

Not include : shipping fee and 3rd lab testing fee.

| | | | | | |
|---|------------------|---|-------|--------|-------------|
| 3. TIMBOT Lutein 20mg per serving 120 capsules | WTTL-251203-0002 | TIMBOT叶黄素胶囊120粒 白色盖子 LOT: B3E8701 EXP: 02/2029 TIMBOT Lutein 20mg per serving 120 capsules Mg/cap 叶黄素(万寿菊提取物) Lutein (from Marigold Extract) 10 玉米黄质 Zeaxanthin 2 蓝莓提取物 Blueberry Extract 10 : 1 维生素A Vitamin A Palmitate Powder 1 维生素B6 Vitamin B6 (as pyridoxine hydrochloride) 99% 1 维生素C VC Ascorbic acid 1 锌 Zinc oxide 80% 0.4 250cc PET Dark Amber Bottle with White RS Cap, Clear Neck Seal, and Size 0 gelatin orange Capsule. Not include: shipping fee and 3rd lab testing fee. | 10000 | \$2.30 | \$23,000.00 |
| 4. TIMBOT Liver Detox 120 capsules | WTTL-251203-0004 | TIMBOT奶蓟草胶囊120粒 LOT: B3C5201 EXP: 12/2028 TIMBOT LIVER DETOX 120capsules Mg/cap 奶蓟草提取物 10-1 Milk Thistle Extract 10:1 150 姜黄提取物 10-1 Turmeric Extract 10:1 75 朝鲜蓟提取物 10-1 Artichoke Extract10:1 5 250cc PET Dark Amber Bottle with White RS Cap, Clear Neck Seal, and Size 0 White HPMC Capsule. Not include: shipping fee and 3rd lab testing fee | 8000 | \$1.80 | \$14,400.00 |
| 5. TIMBOT Celery Seed 60 capsules | WTTL-251203-0005 | TIMBOT芹菜籽胶囊/60粒 LOT: B3E9701 EXP: 02/2029 TIMBOT Celery Seed 60 capsules Mg/cap 芹菜籽提取物 (10:1提取比例) Celery Seed Extract (10:1 Extract Ratio) 250 酸樱桃提取物 Tart Cherry Extract(10:1 Extract Ratio) 100 200cc PET Dark Amber Bottle with 38MM White RS Cap, Clear Neck Seal, and Size 0 White HPMC Capsule. | 3000 | \$1.69 | \$5,070.00 |

Not include: shipping fee and 3rd testing fee.

| | | | | | | |
|----|--|------------------|--|-------|--------|-------------|
| 6. | TIMBOT Aloe Vera 90 capsules | WTTL-251203-0006 | TIMBOT芦荟复合胶囊90粒 金色瓶盖 LOT: B3EA701 EXP: 02/2029 TIMBOT Aloe Vera 90 capsules Mg/cap 芦荟提取物 Aloe Vera Extract10 : 1 230 低聚果糖 Fructooligosaccharides (FOS) 190 番泻叶提取物 (20%番泻叶贰) Senna Leaf Extract (20% Sennosides) 5 250cc PET Dark Amber Bottle with gold RS Cap, Clear Neck Seal, and Size 00 White HPMC Capsule. Not include: shipping fee and 3rd testing fee | 3000 | \$2.20 | \$6,600.00 |
| 7. | TIMBOT Immunoglobulin Compound 120 capsules | WTTL-251203-0007 | TIMBOT牛初乳蛋白胶囊120粒 金色瓶盖 LOT: B3EB701 EXP: 02/2029 TIMBOT Immunoglobulin Compound 120 capsules Mg/cap 牛初乳粉 Bovine Colostrum (standardized to 30% IgG) 75 接骨木莓 Elderberry Extract 5 250cc PET Dark Amber Bottle with Gold RS Cap, Clear Neck Seal, and Size 0 White HPMC Capsule. Not include: shipping fee and 3rd lab testing fee | 5000 | \$3.00 | \$15,000.00 |
| 8. | TIMBOT Glucosamine & Chondroitin 120 capsules | WTTL-251203-0008 | TIMBOT氨糖软骨素胶囊120粒 金色瓶盖 LOT: B3EE701 EXP: 02/2029 TIMBOT Glucosamine & Chondroitin Capsules 120 Capsules Mg/cap 盐酸氨基葡萄糖 Glucosamine HCl 375 硫酸软骨素 Chondroitin Sulfate 90% 75 柠檬酸钙 Calcium Citrate 22.5 MSM MSM (Methylsulfonylmethane) 0.375 250cc PET Dark Amber Bottle with Gold RS Cap, Clear Neck Seal, and Size 0 White HPMC Capsule. Not include: shipping fee and 3rd lab testing fee/ | 10000 | \$2.50 | \$25,000.00 |
| 9. | TIMBOT Glucosamine & Chondroitin 90 capsules | WTTL-251203-0009 | TIMBOT氨糖软骨素胶囊90粒 金色瓶盖 LOT: B3EF701 EXP: 02/2029 TIMBOT Glucosamine & Chondroitin Capsules 90 Capsules Mg/cap 维生素D3 Vitamin D3 0.02 盐酸氨基葡萄糖 Glucosamine HCl 300 硫酸软骨素 Chondroitin Sulfate 90% 60 柠檬酸钙 Calcium Citrate 20 MSM MSM (Methylsulfonylmethane) 50 骨胶原肽 Collagen Peptides 20 柠檬酸镁 Magnesium Citrate 20 250cc深琥珀色瓶子+金色平盖+透明颈膜+0号白色植物胶囊壳 (0号放不下就用00号) Not include: shipping fee and 3rd testing fee | 10000 | \$2.30 | \$23,000.00 |

Total

\$135,070.00
